Discuss how technical advancements widened the gap between rich and poor nations over time.

Before the Industrial Revolution in 18th Century, the difference between the incomes of Countries was marginal. Most of the countries were self sufficient and mostly agriculture based. The industrial revolution brought in a new dimension into the world’s economy. The productivity of the countries increased due to the technical advancement and industrialization.

Technology is not something new to the society. At different times there were inventions which helped the community to improve the living standards. Use of bulls and horses for agriculture was a major invention that increased the productivity of the farmer. The farmer who had bulls or horses was able to plough large extent of land, use them to do various types of farming related activities and also take the final product to markets where he could get good price. Therefore a farmer who had land and cattle became richer than the other landless folks. When tractor replaced bulls and horses the productivity further increased by many folds and when the man travelled beyond the land and used ships it opened a new horizon to the producer. 
Increase in production resulted in increase in deployment of labour for production of technological devices as well as various kinds of consumable items. All these items helped the humanity to improve the standard of living. Industrialised countries were able to produce items like clothing, durable processed food items and home appliances, transport equipments such as bicycles, motor cycles and cars. This mass production resulted in surplus production and unless they were sold the producers would lose. The industrialized countries such as United Kingdom and other European countries went after capturing the lands of many Asian countries which were unable to withstand the technological advancements. These eastern countries fell into the hands of the industrialized super powers. The super powers were able to do this with the use of mechanised weapons, use of shipping lines and the administrative structures.
The colonial powers took over the administration and seized all the unoccupied land. These lands were either sold or leased out to western companies to cultivate for the consumption needs of the west. In turn the consumable items produced in the west using modern technology were marketed in the poor countries. The local elites too had a share of profit in this process. The poor countries became dependent on the western market to sell their products and they didn’t have a say in fixing the selling prices. But the west had a say in fixing the price for their products. This has caused the poor countries totally dependent on the west for their family income and consumption. This disparity has caused unfavourable balance of payments to the poor countries and thereby increasing their level poverty. 
During the agricultural era a rich land owner was able to employ certain people as his labour and exploit them. Some owners look after their employees very well but refused their right to be self sufficient. The feudal land lords controlled the socio cultural affairs of the people. The workers never owned land and it would be a difficult task to change their status in the society. The caste system was also prevalent in many parts of these regions. This has already caused disparity within a particular country. The west used the same channel to market their products to the public.
The reason for the gap between the rich and the poor doesn’t confine only to the advancement in technology in the production. The western affluence made it possible to expand the market through market research and modern trading techniques. Market research and other applied and primary researches need huge amount of investment which the poor countries were not able to afford. Therefore the poor countries always depended on the innovations made in rich countries and pay the cost of research in instalments. 
This lack of technical knowledge and advancement has prevented the poor countries from producing modern equipments and therefore the people have to be confined to agricultural products. 
Gap between rich and poor countries continues to expand, it is clear that intellectual capital and technology rule the world, and that natural resources such as oil, gold, and diamonds are no longer the primary determinants of wealth.

Today, half the world’s population — three billion people — live on an average of $500 a year. In contrast, Bill Gates earns $500 every second. By controlling technology and taxing computer users, Gates has become wealthier than each of the 70 poorest nations on earth and using his financial might has conquered more territory than Genghis Khan, Julius Caesar and Alexander the Great combined. 

Bill Gates could be considered as the new millennium’s Prince of Technology. He is by no means the first to have taken on the huge potential offered by the realm of technology. The Romans used roads and military technology to expand their empire. And, for centuries, Britain ruled a quarter of the Earth due to its unparalleled ability to command maritime technology and conquer the Seven Seas. 

Britain undoubtedly established itself as the world’s first superpower through its rapid and ruthless colonial expansion program. The British raised the Union Jack over Canada and Australia, India and Hong Kong, Egypt and Kenya, and countless other countries — even the United States. The Union Jack cast its shadow in every global time zone, giving rise to the saying, “The sun never sets on the British Empire,” a fact that was cold comfort to the colonized nations. 

In the same way, the United States has embraced its technological supremacy, both offensively and defensively, to build its own global empire without a physical presence in any of its “colonies.” The sole remaining superpower is at the forefront of every major technological advancement, which it has used to become deeply embedded in three-quarters of the globe. The US has accomplished a virtual economic colonization manifesting its presence throughout the globe by harnessing the power of technology and capitalizing on it. (Technology Widens Rich-Poor Gap By Philip Emeagwali) 

Another reason that widens the gap between technically advanced countries and the poor are the agricultural subsidies paid out to farmers by the United States and the European Union, which cost the poor countries more than US$ 250 billion a year. Yet in the recently held United Nations Aid Conference in Monterrey, Mexico, it was said that if the United States was to open its wallet, poor nati ons must open their markets. The question is, how can the poor nations open their markets and face the competition of the rich nations in agriculture when subsidies and other support to farming in the rich nations amount to about US$ I billion a day? And yet the poor nations are told they would lose aid if they fail to remove the subsidy on fertilizer needed to boost production and possibly achieve an exportable surplus. (Globalization and Future of Poor Countries By M. Monwarul Islam  ‘The Independent’ July 6, 2002) 
Numerous examples throughout history support the idea that technology can be used as a tool of oppression. And there’s little doubt that America’s technological advancement has allowed it to exploit natural resources around the world. This is particularly evident in Africa, where the US is exploiting oilfields beneath the pristine rainforest — and being rewarded with a 40-percent tax at the expense of the African people.  

We’ll consider Sri Lanka as an example to illustrate the phenomena. When the British captured Sri Lanka then Ceylon, our main production was paddy and coconut. Sri Lanka was more or less self sufficient in rice and coconut. The kings who ruled had many schemes to help cultivation by building eco friendly dams. People living in the country moved and lived in territories of their choice and adjusted their life styles accordingly.  
The globalization process too plays an important role in widening the gap. The core players of globalisation are the large corporations of the rich countries. They alone have a global reach because of the technical and financial resources available to them. They direct their investment in developing countries principally in consideration of the market, security and profitability. Naturally, the lion’s share of the foreign direct investment has gone to countries that meet these criteria including China, Brazil, India, Chili and Mexico. It is estimated that the Least Developed Countries (LDC), numbering about 50, mainly in sub-Saharan Africa, receive less than 2 per cent of foreign direct investment in developing countries. It is common knowledge that the bulk of the foreign direct investment in the LDCs, who have a small domestic market, is in the extraction of natural resources such as oil, gas, minerals, timber and fishery. Not much processing or local value addition is involved in these undertakings, with consequently little contribution to national income and employment. 

On the other hand, they deplete the resource base and degrade the environment. The LDCs thus face a serious dilemma. They badly need investment that brings in capital and technology. But despite every conceivable incentive and concession foreign investment flows in a trickle and ‘goes to activities that undermine long- term sustainable development. 







